B2 8KF+_AFA
—. BB (12 /M8, §/ME5 4, 3£60 5D

1.4 A={—10},B={0,1},C={2}, M UNB)UC= « Cc
A. O B. {1} C. {0,1,2} D. {-1,0,1,2}

2. FHIZAERE D, §y=xEZrRA—TRHEHR ( B)

A. y=(\/;)2 B. y=Vxc. y=vVx*  D. y——2

3 EH f(x)=1n(x+2)+§l¥]%)‘(ﬁ?%] ¢ c )
A r>-2) B.{dx =0 C.{x|-2 < x < 08x > 0} D. {x|x > 0}

1

1 1
4%a=072, b=08%, c=10g,0.7, Wa,b,cZIAKKNMNEERL ( B )

A. c<b<a B. c<a<b C. a<b<ec D. b<a<c
4
5. By =x' FERE C A)
A B c D

6IFRIE, GABRITS5 AL, FRE2%, 3EFIH ABME ( ¢ D AL

A.5(1+0.02)° B.5(1+0.02)>  C.5(1+0.02)° =5 D.5(1+0.02)* -5

7. FRRAXC —5x+6=0MBFERXEN ( B )
A. (-3,-2) B. (-2,-1) C. (-1,0) D. (0,1)

8. ELAIZF B = {f (),
g(x),

l—x lx ¥y
A.| — B. —|— C. 2~ D. —2~
2 2 1
1.
1 I e

0
T e, e DNERESWETR, N g=( D )

a’, (x<0)
(a-3)x+4a, (x=>0)

L ey L 0D = ()

X=X,

9, B%n&%ﬁtf(x)z{ < 0 B&az,

W a KB E VG 2

A. (0, 21 B. (0,1) C. (D D. (0,3)
10. % f(x) = lg(x* —2ax +1+a) FEX 8] (—oo,1] E3#HR, WaKEETEEAN (D D
A. [1, 2] B. [2, +o0) C. [1, +o0) D. [1,2)

C A D)

f#: Bao(x)=x>-2ax+1+a, )QU{aZl FrbAl<a<2
g)>0

1R f(x) =In(1+]| x|) - MER f(x) > f(2x—1) BRALK x WEETEER ( A D

1 1 11
A. (E’lj B. (—OO,EJU(I,—FOO) C. (_E’Ej
12. BEgty = x"(m = 0), LmBURRKESE, £XEo, 1 Eeig |
ElG R —HERBhZR (B . B8 4(1,0), B(0,]) , EZEAB , LREX AB 181

ERPWEARER Y=, y=xX" wER=%5, B u
BM =MN =NA.Wap=(CD )
A. 4 B. 3 C. 2 D. 1 0 A x

kv @y P 120 21 2 (11 (22 (2
AHRY=XVEX a3, 53, mug‘@ ’5‘@ 52@ Mep =1
= HERE. (GRKEE4AVE, BB S5, 35204

13. E¥y=a"" +OMERELA (4,7
14.. BE f)=x—1)2+3x—10)HEEE A

fB: f)=(x—DE+3x—10)=Cx—Dx+5)(x—2), . HA)=0Fx=—5K1X2.EX: 3
15. EAMEFHRAKA x, BRSMERKEERy, Wy kT x BTN

1
1+x>’

Xk Xk
fB: MBERABREFHITALR, izué?'af, @ﬁii‘fzf«?ay)&u +[4] .'.y2=;‘—;ﬂp y=\£2x(x>0).

x* -1, (x<1)

16. BRIES f(x)= (r>1) BFETF XHOTR f(0) = KH=AFANSR, WIHRERE

logl X,
2

W B A, %0 B, BE ) EABA, M 0<a<l, '.'f(1)=%, fa=j, B o E

1) 1)« 1)«
ﬁﬁléff(f(x)=[2}, Y x<0 B, —x>0, J”\'Jf(—x)=[2] =—f(x), BP g(x)=—[2] =—2% # g(x)=—2%, x<0,




13. (4,7); 14. 3 15. E{waop 16. _(-1,0)

=, B (KE6 MKE, 17E 104, HAEE 124038 70 47, B HIFHARHBERE
17.(10 43t &

2
1 3 (_ZT +(%j 3 +(\/§—2)_1 +M () lg5.1g8000+(1§.ri2ﬁ)2
2]3x[_§]

1
lg600——1g36——1¢0.01
g ’ g ) g
2 (I)Eﬁ=—i+[3

+\f5+2+71:—3=—§+%+\f5+2+n—3=\f5+n .......... 543

Ig5(3+31g2) +3(1g2)* _ 3lg5+31g2(g5+1g2) 3

(2) RR=
T 1g6+2)—1g6+1 3 3

18. (124)) WAEAU=R, £& A= (-o, -3]U[6, +0), B={x|log: (x+2) <4}.
R (1) ANCeB; (2) BAI C=x2a<x<a+l}, & CSB, KL aWEETEE.

) EEA B = (- 2,14) CpB = (—0,-2]U[14,490) cerrererrrernnes 44
ANCRB= (-0, -3]U[14) +0) eevveerereeannnn. 645
(2) vC={xl2a<x<a+l}, .D2a=a+l, Bl a>1 B, C=2 , FLIL; ......... 8 4+
®@2a<a+l, Bla<1®t, C= (2a, a+l) S (-2, 14),
mu{aﬂélq, R - 1<a<1. sereerevrerrenn, 114
D2~
LR, a WEUEBE N[ -1, +90) cceeeenennen, 12 4y

19. (12 43) (1) T RE f(x) = logl(—a)c2 +6ax+a+8), HEREELHA R, REH a WBETER

(2) BAnE X R ERRE f0WR:Qfc+y) =)+ +1,0% x>0 B, fix)>—1
K AOKIME, FFIEH fix)7E R ER BEAERE;

fE: (1) Za=0B AL, 24
”:‘la;t()ﬁﬂ‘{;izo,ﬁﬁ”%-i<a<0 .................. 5 4%
%R, -§<a£0 .................. 6 7

)2 x=y=0, BAI0)=—1. e (8 41)

£ R EER x>x2s W x1—x2>0, flxi—x2)>—1.
X fx)=fl(x1—x2) +x2] = fixi—x2) +fx2) +1>f(x2)
FrABREL fix)7E R B2 B3 iR 3. (1243
20. 2415 f(x) =2" e SUBEI0,3], ®g(x)=/(2x)—f(x+2).
(1) R g(x) BN & 38 (2) R g(x) KW KEMBR/ME.
(D)o fx)=2%, nglx)=f2x)— flx+2) =22 -2, ... 34

B O 0 SURAE (0. 31, BB = 25 5% mosxs1,
FR gxOMEIIERX0 = x =10 e, 6 4
(20 Bg(p) = (24)2— 4% 25 = (25— 2)2 — 4+ overemsusununenns 8 4>
Vre[0 1] Mareqn2p e = 2Wy o 18 g BARMI_g . 10 43
Hox _ 180, _ o, g{x;w%%jcﬁ_} ....................................... 12 4

21. (124)) BEAEERE Y=/ WEZRZES24), FTFEEEYy=2(x),(xeR),
Kx>0m, g(x)=f(x)-2x.

(1) RR$y = f(x) KfdEdr s

(2) REx<0m, FEEy=g(x) N, FEBERE )Y =g(x) HEZR;

(3) H5HEE y = g(x) | HI RN X .
fi#: 1By = Fra) = 250 ﬁ)\)ﬁ{z. 1y By_ow Sg=2 S Flr) = B e 25
Lzlfirj = x% iy = U'ﬁg{xj —x2 - 2x Wy =0 Wy oo 1 = gitj%PLmﬁ@ﬁ

Trglx)

(x>0)
- f(x) (x<0)

(1D #Ff(-D)=0 BXEREHxIE f(x) 2 0REL, RF(x) RER:

() 2 (1D WEAET,Lxe[-22]8, g(x)=f(x) -k RERRER k KBETEE

3 #Em>0n<0Bm+n>0,a>0HF(x)R&&EH, RiE: F(m)+F(n)>0.

22. (1243) WERM f(x) =ax’ +bx+1 Ca,bREH) ,F(x):{f(x)

f#: (1) f(-)=0, ~b=a+1, ........ 14
B f(x)>01ERL, MA=b>-da=(a+1)’-da=(a-1)"<05a=1, ...... 347
M f(x)=x> +2x+15 .'.F()q{)={()”'1)2 (x>0) e, 543
—(x+1D? (x<0)
(2) B (D) THE () =x>+2x+10g(x)= f(x)—ke=x>+2—-k)x+1,
Eiﬁg(x)%E[—z,z]r%wm,%n-zgkS_zaﬁ-uzz, ............... 745
2
Bhk<2Hk>6..e.. 84

(3) v F(x)RARE, . F(—x)=—F(x), BIZx> 08 F(-x)=—f(-x)=—f(x) =-F(x)

Bx<O0m, —x>0, F(-x)=f(—x)=f(x)=—F(x) .. ) pmm % b=0..10%

Ma>0, & f(x)2E[0,+0) EXMEL, = F(x)7E[0,+0) EABES, ........ 114
“m>0,n<0, Hm>-n>0, FF(m)>F(-n),

S F(m)>-Fn), S Fm)+F1)>0. i, 12 4



